Historic, Archive Document

Do not assume content reflects current scientific knowledge, policies, or practices.



Established 1878

Incorporated 1905

ADVANCE PRICE LIST JULY 15, 1922

SUBJECT TO CHANGE WITHOUT NOTICE

WE have to offer some of the finest stock of Fruit Trees we ever grew, about threequarters being at our old growing station in San Benito County, near Betabel. The balance is growing by the Highway near Brentwood, Contra Costa Co.

Prospective planters are invited to see the young trees as they are growing in the Nursery.

LEONARD COATES NURSERY COMPANY

MORGANHILL

CALIF.

HERE is a tendency at the present time to sacrifice everything to commercialism. This is seen in the propagating of only those varieties of fruits which are required by the canner or packer, which often means the loss of what is best in quality.

We believe in California, and in the Homes and Gardens of California; and it has always been our aim to grow an assortment of fruits unexcelled, if not unequalled, in both variety and quality, as well as those sorts specially in demand for market purposes.

Planters will find the best of everything in our lists.

Remember, we are the Pioneers in the propagation of Bud Selected Stock.

TERMS:

- Twenty per cent with Order; balance cash on delivery, unless otherwise arranged.
- 8% Discount for Cash with Order during July, Aug. and Sept.
 - 5% Cash discount Oct. 1st. to Jan, 1st. Packing Extra at Cost.

5 Trees of one Variety at 10 rate 50 """"""100" 300 """"""1000" Add 5 cts, per tree to 1000 rate on all myrobolan rooted stock,

ALMONDS

Fach 10 100 1000 $\frac{1}{2}$ in. caliper and up, (formerly 4 to 6 ft.): 3.50. 30.00 250.00 .45 $\frac{3}{4}$ in. caliper and up, (formerly 3 to 4 ft.): 25.00 200.00 .40 3.00 $\frac{1}{4}$ in, caliper and up, (formerly 2 to 3 ft.): .35 2.50 20.00 150.00 Calif. Paper Shell Improved I X.L. I. X. L. Drake Jordan Nonpareil Lewelling Peerless Texas Prolific Ne Plus Ultra

APRICOTS

Each	10	100	1000
½ in. up. 60	5.00	45.00	400.00
¾ in, up .55	4.50	40.00	350.00
1⁄4 in. up .50	4.00	35.00	300.00

Approximate order of Ripening Newcastle Blenheim Barry Hemskirke Royal Tilton Moorpark

APPLES

	Each	10	100
$\frac{1}{2}$ in. up	.60	5.00	45.00
⅔ in. up	.55	4.50	40.00
$\frac{1}{4}$ in, up	.50	4.00	35.00

Approximate order of Ripening Worcester Pearmain Early Harvest Yellow Transparent Yellow Bellflower Red Astrachan Knepper Red June Ionathan Stayman Winesap Skinner Seedling Charles Ross Baldwin. Gravenstein King David **Rivers** Peach Gano Winter Banana **Red Beitegheimer** James Grieve Langford Alexander Northern Spy Fameuse Grimes Golden King of Tomkins Co, W. W. Fearmain **Een Davis** Delicious Cornish Gilliflower Red Fearmain Peasgood Nonesuch Arkansas Black Yellow Newtown Pippin

CRAB APPLES

Hyslop

Yellow Siberian

CHERRIES

	Each	IO	
$\frac{1}{2}$ in. up	.90	8.00	1
$\frac{3}{8}$ in. up	.85	7.50	1
$\frac{1}{4}$ in. up	. 80	7.00	•
A	pproximate	order of Ripeni	ng
*Chinese	Cherry	Wate	rloo Heart
Chapman		Black F	Republican
Burbank			Giant
California	Advance		Lambert
Early Ric	hmond	Emper	or Francis
Mayduke		Napoleon	Bigarreau
Rockport			Bing
Black Ta	rtarian		Faul
*New V	/ariety; \$2	.50 each.	

NECTARINES

Each	10	100
.65	5.50	50.00
,60	5.00	45.00
.55	4.50	40.00
	.65 .60	.65 5.50 .60 5.00

Approximate order of Ripening

Advance Early Rivers Stanwick Elruge Spencer Boston Milton Cardinal Pineapple

PEACHES

Each	10	100	1000
½ in. up .65	5.50	50.00	450.00
⅔ in. up .60	5.00	45.00	400.00
1⁄4 in. up .55	4.50	40.00	350.00

Approximate order of Ripening.

Mayflower Conkling Sneed Leader Briggs May Muir Alexander Brackett Washington Barnard Australian Saucer Strawberry Prince of Wales Japan Blood Pattison Duchess of Cornwall Hales Early Lady Palmerston Early Elberta Elberta Peregrine J. H. Hale Duke of York Wheatland Late Crawford Illinois St. John Lovell Decker Morris White *Dainty Wilbur Sea Eagle Salway Foster Morrisiana Early Crawford Krummel

CLINGSTONES

Tuscan Chillow



Peak Phillips

*New Varieties, \$1.00 each.

PEARS

Each	10	100	1000
½ in. up .65	5.50	50.00	450.00
⅔ in. up .60	5.00	45.00	400.00
1⁄4 in. up .55	4.50	40.00	350.00

Approximate order of Ripening

San Juan	Mme. Lye Baltet		
Madeline	King Karl		
Bloodgood	Louis Pasteur		
Bartlett	P. Barry		
Triomphe de Vienne	VSt. Germain		
Marguerite Marillat	Du Comice		
Duchess d' A.	Winter Nellis		
Foster Bourro			

Easter Beurre

FIGS

	Each	10
4 to 6 ft.,	.55	4.50
3 to 4 ft.,	.50	4.00
Adriatic		Kadota
Calimyrna 🔍		Mission

QUINCES

	Each	10	
$\frac{1}{2}$ in. up,	65	5.50	

PLUMS

Each	10	100	1000
½ in. up .60	5.00	45.00	400.00
¾ in. up. 55	4.50	40.00	350.00
¼in. up. 45	3.00	30.00	250.00

Approximate the order of Ripening

	· · · · · · · · · · · · · · · · · · ·
Earliana	- *Banana
Beauty	💪 Decaisne
Extra Early Satsum	a - *Sacramento
Climax	Monk
First Best	*Sapa
Clyman	Satsuma
Tragedy	Hungarian
Amador	Gigantic
*Anita	Jefferson
Santa Rosa	Crimson Drop
Gaviota	Creen Gage
Methley	Conquest
Becky Smith	Grand Duke
*Mammoth	Kelsey
Formosa	*Kaga
*Wilma	Shropshire Damson
Burbank	King of the Damsons
*Sharkey	*Dolores
Wickson	Primate
*Clarice	₩ White Damson
- *Raisin	🗸 Uncle Ben

* New Varieties, \$1.00 each.

PLUMCOTS

Stanford

Sharpe

Apex

PRUNES

Each	IO	100	1000
½ in. up, .60	5.00	45.00	400.00
¾ in. up, .55	4.50	40.00	350.00
1⁄4 in. up, .45	3.50	30.00	250.00

Coates 1403

Standard Clairac Mammoth (Imperial) * Rayburn Coates 1414 📥 *Santa Barbara

Coates 1418 (Name Trademarked) Price, Coates 1418, ten cents above List. Sugar

* New Varieties, \$1.00 each.

WALNUTS

	Each	10	100
6 to 8 ft.	1.75	15.00	125.00
4 to 6 ft.	1.50	12.50	100.00
3 to 4 ft.	1.25	10.00	75.00

Concord

Eureka Franquette *French, new *Mautner

Mayette Treve Morrow Mavette Payne Seedling San Jose Mavette Wilson Wonder

*New, \$2.50 each.

GRAPES

A fine assortment grafted on rupestris, and rooted cuttings

> Also a Full Assortment of SMALL FRUITS